Seat No.

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300005

Subject Name: Basic Physics Group-2

Time: 10.30 AM TO 12:00 PM

Instructions:
1. Attempt all questions.

Date:18/05/20116

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Texts and Options. Y8l e (Ascl.
Which of the following is a Vector quantity?

1. | A | Force B. | Mass
C. | Time D. | Temperature
(LAt el 202 58 B2

Q. W | A ol A Hlol
5 HHY S AlUHLet
Sl Unit of Electric Current is.............

2. | A. | Coulomb B. | Ampere
C. | Ohm D. | Candela
(gt yaus oll SIASH ................. R}

.| U | Ao of | AR
s | AeH S | 3adcl
1 Newton=.............. dyne

3 A. | 10° B. |10*

C. |10° D. |10°
Vool = e Slefet

3. A | 10° ol 0*

5 0" S 0°
Number of Significant digits in 1.007 is....................

4. |A. |1 B. |2
C. |3 D. |4
9.009 Hi UL&s VS oo 8.

¥. W |1 ol 2
5 3 S ¥
Which of the following is a fundamental quantity?

5. | A. | Speed B. | Momentum
C. | Acceleration D. | Length
sl AstHiell Yoo ellds 22l s¢ B2

u.

U | BSU ol | AdHLel
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s | yaoal s | e
Which of the following measurement system is mostly used in the laboratory?
6. |A. | MKS B. | FPS
C. | CGS D. |SI
(LA ML 58 HiUotoll youdl Yoot W auR durll 8?
¢ | |MKS o | FPS
s |CGS s |SI
Kelvin is a unit of which quantity?
7. | A. | Current B. | Temperature
C. | Mass D. | Time
seclot 565 RAAlA AsH B2
9. | | yale ol | cdluMlet
5 AR Hlol S HH2U
Density of water in MKS system is................
8. |[A. | 1000 B. |10
C. |100 D. |1
MKS yeuellHi wellsll eotl ... .
¢. |3 | 1000 o 0
5 00 S 1
Which of the following instrument is used to measure the inner radius of a hollow
9 cylinder?
" | A. | Vernier callipers B. | Micrometer screw
C. | Spherometer D. | Physical Balance
oA Ml 53 Aot WA alousiell vieell Bl Hiual W2 a2 82
¢c. | | doflar 3cllud o | sl g
s | AAAeR s | elllds undal
What is the Least count of a micrometer screw having 1mm pitch and 100 divisions on
10 its circular scale?
" |A. | 0.1lmm B. |0.01lmm
C. | Imm D. | 0.00lmm
1 {ldl QA A adousix WA UR 100 stUl uRldddl HgsiHle g ol cuia
secll ©°?
0.
w | 0.4 {l o [0.0q0 {lll
s[4l s |0.00a {lall
1 KQ=............. Q
11. |A |1 B. |10
C. |100 D. | 1000
1LKQ=............. Q
Q. | |1 o 0
5 00 S 1000
1 KWH=........... J
12. | A. | 3.6x10° B. |3.6x10*
C. |3.6x10° D. |[3.6x10°
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2. | |[3.5 x10? o 3.5 x0°
8 3.5 x0" S 3.5 x0°
V=IR is a formula given by............
13. | A. | Ohm B. | Newton
C. | Joule D. | Coulomb
VIR YA e A AR
3. | A | e o | el
5 |x%ad D. | sciat
The Unit of electric flux is...............
14. | A. | Weber B. | Newton
C. | Joule D. |Tesla
Qg setet ol ASH ... 0,
VY. [ A | AoR o | oYeel
5 | xd S | el
1 Which of the following is a ferromagnetic material?
5 A. | Gold B. | Silver
" | C. | Platinum D. | Iron
oA WAL $AAXEs ueld s B?
W, | | A €l
5 [ w@dlety s | Ais
Kirchhoff’s first law is also known as.............
16. | A. | Current law B. | Point law
C. | Junction law D. | All of the above
SIS ol yud Qan ..., dRY vl B.
. | | Yalsall [an o | (gl Qan
5 | ¥s2ctoll an S | GURell ol
The temperature at which e.m.f. of the thermocouple become maximum is called..........
17. | A. | Neutral temperature B. | Inversion temperature
C. | Critical temperature D. | None of the above
wlsuctoj emf. ¥ dAlUMlol HodH A B A dlUMlet ol ............. 58 8?
WI. | A | g clUHLel o Boclddol AlUHLel
s | sl dtuntet s | GuRHiYl As uwl o8
The statement” The mass of a substance liberated at an electrode is directly proportional
18 to the charge passing through the electrolyte” is given by...........
" | A. | Faraday B. | Kirchhoff
C. | Ampere D. | Coulomb
“FASAS UR ML Acl Uldell U SAsclSeHidl UAR s3ct (AR «ll
AUYHRL M1 Sl B Al [AQlet........... A AU,
.
AW | $I o | slAlsu
s | Al s | scw
19. | Whenever the junctions of two dissimilar metals are kept at different temperatures an
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e.m.f. is produced .This is called.............

A. | Seeback effect B. | Peltier effect

C. | Thomson effect D. | Joule effect

2R A el el Ul %os2atal YEL YEL AlUMLA AWML A U

Axiel @Qgd yale Geus A 8. WA ..o, 58 8?7
QcC.

| {las uUAR ol | AR WAUR

§ | AHU AU S | A AR

Two resistors 10 Q and 20 Q are connected in series then its effective resistance is.........
20. | A. 10 Q B. 20 Q

C. [30Q D. 5Q

AR 10Q Wl 20Q oll A HAAN A ARHL BLScllHl A IR Asll

USRS WY ... sl ®.
0.

W 10 Q 1 20 Q

5 30Q S yQ

Inverse of Resistance is called................
21. A T Potential B. | Specific resistance

C. | Conductance D. | Inductance

URlUoll RRcdA............. 56 0.
4. | w | RAAHLet ol | (Qle wWaRAu

5 $0S55cad S oS Se ol

Kirchhoff’s second law is based on the law of conservation of................
22. | A. | Charge B. | Energy

C. | Mass D. Momentum

Slalsuall oflel [Qam............ U8l oll [AaHuR AR .
2. [ | dlwawR ol | Gl

§ | §RAHLlo S | AaHlet

For Cobalt and Platinum, the value of Thomson constant is..................
23. A. | Positive B. Negative

C. | Constant D. | None of the above

slollce el LAZletH HIZ MU HUUS] YA ... 0.
3. | A | Ual ol | boL

s | AAN S | GURell Hidl Asuw «1(@

SI Unit of Intensity of electric field is...................
24. A. | C/m B. | A/Im

C. |C/m? D. N/C

Qyd@stoll dlacl ol SIASH .............. 8.
Y. |a |C/m o |AM

2

5 C/m S N/C

Ohm’s law is not applicable to....................
25. ['A" T DC Circuits B. | High currents

C. | Small resistors D. | Semiconductors
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UleHoall [Aan

................. A Ad] uscl otedl |

U | | Sl uRBua ol | del yasdl
§ | olloll AR s | Adauesl
The process of depositing of one metal on another metal using chemical effect of
26 electric current is called...................
A. | Electrolysis B. | Electrolytic
C. | Electroplating D. | None of the above
Qg cdyctgell Heddl 518 tldell dla olly uld U uUslacllell
usla................ 58 B
R6S.
U | SAsAARNU W | SAsAcuse
s | AL s | GuRHill Asuwl @
Which of the following is a secondary cell?
27. | A. | Mobile battery B. | Drycell
C. | Daniel cell D. | Laclanche cell
oA WM s20 As0s3I| Sl B?
9. | A | W A3l o | Ysl sl
5 | 3Rad sl s | AsclA sl
The potential difference across a resistance of 14 Q is 35V .Find the current through it.
28. |A. |2A B. |[3A
C. |25A D. [0.25A
gl 3 Vol As Azl 1¥Q WAt AU RSl AHidll UAR A Yas 2.
RC. | |[RA o 3 A
5 Q_U A S o._RU A
1 Tesla=........ gauss
29. |A. | 10° B. |10*
10° D. |10°
1 é%@tl- ........... ol
Re. | 3w | 10° o 0*
5 90" S 0°
The magnetic susceptibility of a diamagnetic material is.....................
30. ["A. T Positive B. | Negative
C. | Infinity D. | None of the above
stUARRs ueldofl forslal AauslAd oo 8°?
30. | ¥ | Usl o 0L
§ | Aold s | GuRHIYl AsueL @
...................... device is used for the presence of current.
3L A" | Galvanometer B. | Speedometer
C. | Ohm meter D. | P.O. Box
@Qgd yasell o3l ................ Aol M B,
31.
w | deatalldler o | adlsldleR
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s | wenHle? s | UlaAlollsu
The value of magnetic susceptibility is positive and large for...........c........... substance.
32. A Diamagnetic B. | Paramagnetic
C. | Ferromagnetic D. | Antimagnetic
........................ Ueld ol Yousla Aaueellctdl ot Aol auR 8.
32. | | SlRANXRS TERVEREEELE
5 | A0S s | WedlNaRs
“The magnetization M of a paramagnetic material is directly proportional to the external
23 magnetic field B and inversely proportional to its absolute temperature T”.This is
" | knownas............c.c.......
A. | Pirie law B. | Weber law
C. | Weiss law D. | Curie law
“YAAELs Ul of RoR2IBuet M A Ll YUSAAA B A AHYHIGL Hi ol
Aoll clUHletoll RRAYHIRHL 8l B7.% ..o Qi sdauau B.
33.
W [ U3l Ran W | AuR ol [
s | dld ol Qun s | 3ell Rt
Magnetization for vacuum is..........................
34. |A. |0 B. |1
C. | D. |-1
godlastaiie NPt ... )
3. | | O ol q
s |® S |-
The value of frequency of A.C.Current in our home is......................
35. |A. |40Hz B. |50Hz
C. |60Hz D. | 70Hz
UL URHIR A.C. Yellg ol vg.................... .
3. (A | ¥O Hz W | U0 Hz
5 SO Hz S Y0 Hz
The temperature at which a ferromagnetic material is converted into a paramagnetic
36 material is known as.................... of the substance.
" | A. | Neutral Temperature B. | Pierre Temperature
C. | Curie Temperature D. | Inversion Temperature
B dAlUMlal $ANXRSs Ul of 3uidR UAAWE s Udul A & Aa
..................... 58 ®
36.
U | 2R dAlUMlsl o | LR dtuntat
5 5’?{& cllUHLet S R dAlUHLe
Which device converts electrical energy into a mechanical energy?
37. | A. | Electric Motor B. | Dynamo
C. | Telephone D. | Electric generator
(AgdGaslo] ARASGA Ui 3UldR $d Aot .......... 8.
39.
W | [Qgdler o | staall
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5 | ecl§let s | [AYd wotReR
Which device works on the principle of electromagnet?
38. |A. |CFL B. Mobile
C. | Electric bell D. |T.V.
[QYdoisell [AaM UR 53 Ultsl 51U 5 B?
3¢. | |CFL W | A
5 | (AQydde s |2l
A TUSE WIr€ IS @i,
39. A, [ Conductor B. | Semiconductor
C. | Insulator D. | Superconductor
LU AU v 0.
3€C. | | Ydles 1 M%iC{léS
5 WALES S ﬁuesssae
Which coloured wire is used for earthing?
40. | A. | Red B. | Green
C. | Black D. | Yellow
(Il sAUHR $2UL 290 oll AR AURA B?
¥0. |w | Al o | dlA
s | stal s | dlal
Which of the following is a semiconductor?
41. | A. | Silicon B. | Gold
C. | Cobalt D. | Silver
ol WA AHI ualss .
¥a. | A | llclBlet Alo]
C. | Qe D. | yidl
INM=...coccoererrnnene A?
42. TA ]1 B. [0.1
C. |10 D. 100
UV NM=aiieeeeeenn, A°
¥. | A Q 1 0.4
5 a0 S 00
For which of the following materials, forbidden energy gap is more?
43. | A. | Semiconductor B. Insulator
C. | Conductor D. | None of the above
oA Ml sl ud of ollset AaSAU culR B.
¥3. | A U{i'icllés 1 WALES
Yalles s | GuRMidl AsuwL o3
At room temperature, the valence band for semiconductors is almost.....................
44. | A. | Full B. | Empty
C. | Partial D. | None of the above
¥¥. | 3H dAluHlal AdaesHiz AQAROS sHAl ... RURS
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AU | kA o el
s | wdl s | GuRHiYl As uweL o
The process of adding impurities to the semiconductor crystal is known as...................
4. A Crystallization B. | Doping
C. | Polymerization D. | Antidoping
utdales Breadul ugYls stvalsll YA ... 58 9.
YU, | A | slReclgS Bt o | S\t
5 | WARSDUat s | AelS ol
Which of the following is pentavalent impurity?
46. | A. | Phosphorous B. | Aluminium
C. | Gallium D. | Boron
(1A A Vo2ldAoe WY& B?
¥S. |3 | SlRElRA o | Acylollan
s | dclan s | ARlst
The critical temperature Tc for Mercury HgiS......occcoovvvenene
4. A T42K B. [042K
C. [422K D. |0.04K
URL Hgoj silQciudlot Teomnrnnnnne. 8.
¥9. | [¥.R K Cl 0.¥2 K
5 ¥.R K S 0.0¥ K
The value of Threshold voltage for Germanium Ge is.........cccccue.n...
48. A 03V B. [0.7V
C. |10V D. |15V
g Ho{lAM Ge of AES dAlUMLat ............... 9.
¥C. | |03V o 0.9 V
5 1.0 V S LUV
Which of the following is not a part of transistor?
49. | A. | Emitter B. | Collector
C. | Base D. | Inductor
o(lA WAAH $20 2lodflre0l el oi2ll?
¥e. | | gl o | sAseR
s | AU S | 8582
For transistor which equation is correct?
50. |A. | le=lc-ls B. |le=lg-lc
C. | le=lc+ls D. | None of the above
2lodfleue 53 wMls0L ALY B?
qo 2}{ IE:IC'IB o{ IE: IB 'IC
5 le=lc+ls S None of the above
At superconducting state of a superconductor shows the property of................
51. | A. | Paramagnetism B. | Diamagnetism
C. | Ferromagnetism D. | Antiferromagnetism
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YURES 5[0l AU JUES52R

..................... olatuy ealld &,

ua. (A | ARNdls o | SlAAARS
5 | AN s | WlFAN=ALs
Generally how many diodes are used in Bridge rectifier?
52. |A. |1 B. |3
C. |4 D. |2
AHLRAUD ofls?slgl2A1L Secl slllsslaL §7?
. A | q o |3
5 ¥ S 2
The majority charge carriers in P-type semiconductor are....................
53. 'A. [Holes B. | Electrons
.| lons D. | None of the above
P-2l8u weclesHi AWIIEL e 332 ................... ala B
u3. (A | &l W | SAsAA
s | wuRlle s | Guruidl Asuw o6
At absolute 0 K temperatures, intrinsic semiconductor behaves like......
54. | A. | Insulator B. | Conductor
C. | Semiconductor D. | Superconductor
0 K [@08l dtumia Sollodfls utlass............. A3 ad ®
wy. |3 | Aales ol | Yales
s | utcles S | Yursosser
The full form of STM is.......ccoc.....e.
55. | A. | Scanning Tunnelling Microbes B. | Scanning Tunnel Microscopy
C. | Scanning Tunnelling Microscope | D. | Scanning Tunnel Microbes
STM of Y&l 23U ..o 0.
uu, | A | Bellol eacdlool MEgsslon o | Wollol 2ol USRS
5 | ¥ollol 2aclool s | Wollol 2ol HIESH6A
C-atoms in a buckeyball are...................
5. A [30 B. |60
C. |90 D. | 120
ASlAA Moo, C-URHIRRA &lA .
us. | |30 o SO
5 qe S 0
The device which converts AC to DC is known as...................
57. | A. | Generator B. | Triode
C. | Rectifier D. | Pentode
AC of DC Hl 3UldR 8 Yot ............... 8.
uo. | A | %oleR ol | 2uAS
5 | sdlslaAR s | Uetdls
58 The speed of the light is maximum in.....................
A. | Water | B. [ Air
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C. | Glass | D. | Vacuum
ystalell BSU ..o, Ui e &l B,
we. | | well ol | sal
s | sld S | YeRActslal
The splitting of light into its seven constituent colours is known as....................
59. ['A. [ Reflection B. | Dispersion
C. | Interference D. | Refraction
yslaloll detl Alct 4L [Qewesst dcttoll yla................. 58 O,
ve. [ | uRlddet o | [Quedt
5 | cadls:wL s | asletctat
Absolute refractive index of water is.....................
60. A T133 B. [15
C. |19 D. |254
wQll ol [(R0et cuslelestis ... .
SO. A | 1.33 (o] LY
5 .¢ S Q.UY
The velocity of sound depends on ................... ..of the medium.
61. 'A. [ Pressure B. | Temperature
C. | Humidity D. | All of the above
wcllgell Aol Ultlatall ............... UR ALUIR AW B,
S | | ewsl o AlUHlet
s | Aladl S | GURell oluley
LASER radiation is.............ccu......
62. "A. ] Monochromatic B. | Highly Coherent
C. | Unidirectional D. | All the above
AUR of [AsR0L.......... 0.
s, [w | AsW( o | slacdl sleRee
s | Aseall s | GURell oluly
The unit of Power of a lens is................. .
63. | A. | Dioptre B. | Centimetre
C. | millimetre D. | Metre
Aololl UldRell ASH............... 8.
$3. [ | slaueR ol | AsdlHlex
s | Hlclle? s | Hle
What is the value of frequency when LASER operates at 0.3um wavelength?
64. | A. | 1x10% Hz B. |1x10'Hz
C. | 1x10® Hz D. |1x10% Hz
0.3 um cRIAAWE YRleldl ARl AR B?
SY. [ | 1x10% 8% ol | 1x0™ &%
§ | 1xa0™ g2 S | 1x10%° 82
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Which fibre having lower numerical ape

rture?

65. | A. | Single Mode B. | Step Index Fibre
C. | Multi Mode Step Index D. | None of the above
sl $ISUR oll NI WUAR Yt B?
su. |w | R As ol | RU Bod5U SR
s | Hedl s VU B35 S | GURetl Hil AsuQ U@
What is the focal power of convex lens having focal length of 20 cm?
66. | A. | 10 dioptre B. | 5dioptre
C. | 2 dioptre D. | 4 dioptre
20 cm doscolleS YRladl ol@Un Ao ol UleR 32l sl B?
$S. [ |10 slAle@R ol | U slle@R
§ | R sldler S | ¥ slle@R
What is the value of acceptance angle of optical fibre having numerical aperture 0.5?
67. |A. | 15° B. |30°
C. |45° D. |60°
0.4 YRI5 AUURUR YAl MAllset $lAGR oll WsAWRoA WEL 322
GO, [ | ° Cl 30°
5 ¥4° S 50°
Which fibre provides longer bandwidth?
68. | A. | Single Mode B. | Step Index Fibre
C. | Multi Mode Step Index D. | None of the above
sl SLSoR ol AoslAsa R B?
s¢. |u | R As W | RU Bd5U SLETOR
s | HAdl HlS RYU 8od5U S | GURetl Higll AsuQL U3
Optical fibre is the best example of................... phenomenon.
69. "A. [Interference B. | Diffraction
C. | Polarization D. | Total Internal Reflection
AUESA SRAGR ... U2oll HIe of A6 GELERWL B,
se. | | cadls:al o | [Qadet
s | ycllatast s | Yol AidRs uRladat
The ratio of He and Ne gas in He-Ne LASER is...................
0. A T11 B. [1:10
C. |10:1 D. |91
He-Ne QR M He 2ol Ne Rt oll 9JRNTR ................ 8.
V0. [ | 11 o :10
5 10:1 S c:1
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